[TEM NO. /DESCRIPTION QTY
1 Head Wall Bracket 1
2 Flap Arm 2
3 Flap Gate 1

Hanging free in open position

See Note 2.

See Notes 3.

Headwall Bracket

(Overdll)

Headwall Bracket
(Max hole pitch)

Headwall Bracket

o

><See Note 4.
-

=

, (Arm Ctrs) |
8
1 il
o | lo ol N o — N See Note 4.
o | © o - [ o o 2
O += O
SO o
u u 58 50 /@
S kG
2% 32T
52 38
o © o - o 3 o
©) 10 O G

Culvert opening + 100mm

Culvert opening + 100mm

0

0
Note 1 - Manufacturing
. Stainless steel welding to be undertaken by suitable qualified fabricator.
. Clean and passivate welds.
Note 2 - Fastener:
. All 316 stainless
. Minimum 8 fixings.

Fastener Options:

1. M16 x 75 wedge anchor

2. M16 hex bolt, nylock and washers - to suit headwall thickness.

3. Chem-set M16 threaded rod with nylock nut and washers - length to sut headwall thickness.

Note 3 - Setting options:

1. Closest to headwall - small aperture for fish. Less head differential to force closure.

2. Medium distance from headwall - medium aperture for fish. Medium head differential to force closure.
3. Maximum distance from headwall - maximum aperture for fish. Maximum head differential to force
closure.

Note 4 - Moving/wearing parts

. M16 x 45 Hex bolt and nylock nut - 316 stainless steel
COPYRIGHT : ATS ENVIRONMENTAL LTD| ~ THIS DRAWING IS THE PROPERTY OF ATS ENVIRONMENTAL LTD AND MUST NOT BE COPIED GENERAL TOLERANCES THIRD ANGLE ) 7
© OR DISCLOSED TO ANY THIRD PARTY WITHOUT THE WRITTEN CONSENT OF THE COMPANY MATERIAL UNLESS OTHERWISE SPECIFIED prOJECTION ~ |DESIGNER ATS Environmental ATS Environmental
0 =+05 PO Box 177, Whakatane 3158, NZ
Rev | DATE [crance nave | rev | oate |crance NAME 00 =101 @—E DRAWN  MJT P07 212 4647 Fose 07 124650
1 | xxxxixx | Issued for information MJT 0.00 = +0.05 DATE XX/XXIXX Web: www.ats-environmental.com
I i i — UNLESS DIMENSIONS IN
2 | xx/xxixx|Issued for information MJT FINISH |:| 0.1 | ¢ omeswise MILLIMETRES CHECKED SCALE 1:50 SHEET 10of 1 |A3
TITLE NUMBER REV
MACHINED SURFACE FINISH 1.6 1 —
UNLESS OTHERWISE SPECIFIED V Flap Gate ASSemny - Gener'c XXX 0001 O 1 2

REMOVE ALL SHARP EDGES

DO NOT SCALE IF IN DOUBT ASK MODEL: Flap Gate Generic

-



